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AP—61—2016
FACULTY OF COMMERCE
B.Com. (Second Year) (Fourth Semester) EXAMINATION
OCTOBER/NOVEMBER, 2016
COST ACCOUNTING—II
(MCQ & Theory)

(Saturday, 15-10-2016) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. .— (i) Solve Question No. 1 on OMR sheet during the First half hour.

(iz1) Question No. 1 and Question No. 2 are compulsory.
(i11)  All questions carry equal marks.

(iv) Simple calculator is allowed.
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MCQ
1. Multiple Choice Questions : 10
TEIAR v e
() In sugar industry .......cccooeeeeiiiiiiiiiieeen.... method of costing is used.
(@)  Unit costing (b)  Contract costing
(c) Process costing (d)  Operating costing
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When a contract is debited with the original cost of the plant, it should
be credited with .........cccceevvvviiiiiiinnen. at the end of the year.
(@)  Depreciated value of plant
(b)  Original cost of plant
() Average cost of plant
(d) None of the above
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............................... is not included in standing charges.
(@) Salary of manager b) Insurance of motor
(c) Road licence fees (d)  Tyres and tubes
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(31) HEAUHRT™ A (9) HermEr fam
(%) s TaM Yok (8) TR 9 =

If profit as per cost account is taken as base, which of the following

items is added ?

(@)
(b)
(c)
(d)

Under absorption of overhead in cost accounts
Under valued closing stock in cost accounts
Under valued opening stock in cost accounts

Under charges of depreciation in cost accounts
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(v) When contract work completed is less than 1 then the amount

transferred to Profit and Loss Account 1S ..cceovenveeeveniineeneeennann..

l Cash received
4 % Work certified

(@) Estimated Profit x

2 Cash received
3 % Work certified

(b) Estimated Profit x

(c) Estimated Profit
(d) No profit is transferred
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(vi) Abnormal Loss = Actual Loss (=) weeeeveeeiieiieeeinn,
(@) Actual Profit b) Normal Profit
(c) Normal Loss (d) None of these
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(1) wIE T® (9) HERT TH

(%) wERO @ (8) =R AR
....................................... is shown only in financial accounts.

(@) Sales b) Dividend received

(c) Closing stock (d)  Closing work in progress
.................................... 3 7o wEq B e TEied el
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For carrying garbage cost is ascertained with reference to .................
(@) Per ton per mile
(b)  Per passenger per ton

(c) Per passenger per kilometer

d) None of the above
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The disagreement between the costing and financial profit is due

(@) Over or under absorption of overheads
(b)  Items shown only in Financial Account
(c) Items shown only in Cost Account

d) All of the above
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(x) The value of normal 10SS 1S teuveeniinieeiiiiieeeeenne.

(@) Credited to Normal Loss Account

(b) Debited to Normal Loss Account

(c) Credited to Abnormal Gain Account
(d) Credited to Cash Account
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Theory
The finished goods of a factory pass through two processes viz-‘A’ and ‘B’. From
the following information, prepare Process Account : 10
Process ‘A’ Process ‘B’
(Rs.) (Rs.)
Materials 30,000 3,000
Labour 10,000 12,000
Overheads 7,000 8,600
Input units 20,000 17,500
Normal Wastage (percentage on input) 10% 4%
Sale of Wastage per unit Re. 1 Rs. 2

P.T.O.
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There was no opening or closing stock or work-in-progress. Final output
from process ‘B’ was 17,000 units.
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e 7,000 8,600
ACH Teheh 20,000 17,500
WHYRY @ (STRHETAT Ffderd) 10% 4%
fd Teheh & Hod % 1 . 2

TR fhan Terw @Ry fhar foramm &l Rieas Fegd. faan ‘&' o ifaq SdeA
17,000 TH& T
Contractor Ltd. began to trade on 1st January, 2015. During 2015 the

company undertook only one contract of which the contract price was
Rs. 5,00,000.

Of the plant and material charged to the contract, plant which cost Rs. 5,000
and material which cost Rs. 4,000 were lost in an accident.

On 31st December, 2015 plant which cost Rs. 5,000 was returned to stores.
The cost of work done but uncertified was Rs. 2,000 and material costing
Rs. 4,000 were in hand on site.

Charge 10% depreciation on plant and compile Contract Account and Balance
Sheet from the following Trial Balance on 31st December, 2015 : 10

Trial Balance

Particulars Dr. Cr.

(Rs.) (Rs.)

Share Capital 1,20,000
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Creditors
Cash received (80% of work certified)
Land and Building
Cash at Bank
Charged to contract :

Materials

Plant

Wages

Expenses

AP—61—2016

10,000

2,00,000
43,000
25,000
90,000
25,000
1,40,000
7,000

3,30,000 3,30,000

Fiwrd fd. 7 1 SHal, 2015 TS Tk S Bdal. R oI 5,00,000 %

BId.
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(%) (%)
I reaa 1,20,000
ITHT 10,000
g T (FEIf e 80% ) 2,00,000
gl 9 3HRd 43,000
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[T 90,000

I 25,000

et 1,40,000

= 7,000

3,30,000 3,30,000
Or
(fenam)

The contract Ledger of a company indicates the undermentioned expenditure
on account of contract ‘A’ to 31st December, 2015 :

Rs.
Materials 1,00,000
Wages 1,15,000
Plant 40,000
Indirect expenses 9,000

Cash received from the contractee upto 31st December, 2015 amounted
Rs. 2,00,000, which was 80% of the work certified. Materials at site were
valued at Rs. 3,000 and uncertified work cost Rs. 20,000 and contract price
was Rs. 4,50,000.

From the above information prepare Contract Account and show the amount
of profit which can be transferred to the Profit and Loss Account of the 2015
after showing 10% for depreciation on plant.

Teh! A A FUSid Tkl ARl Faeien 31 feder, 2015 widan @eia @<
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A 1,15,000

I3 40,000
AYTT I 9,000

31 feder, 2015 THd I IUMTATRSA 2,00,000 & UG S, S YHIUG shraitean 80%
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The financial books of a company show a net profit of Rs. 2,57,510 for
the year ending 31st December. The cost accounts show a net profit of
Rs. 3,44,800 for the same corresponding period. The following facts are

brought to light : 10
Particulars Amount

(Rs.)
Works on cost under recovered cost accounts 6,240
Office on cost over recovered in cost accounts 3,400
Depreciation charged in financial account 22,400
Depreciation in cost accounts 25,000
Interest on investment not included in cost accounts 16,000
Loss of obsolescence charged in financial accounts 11,400
Income Tax debited in financial accounts 80,600
Bank interest and dividend credited to financial accounts 2,450

Loss due to depreciation in stock values charged in financial
accounts 13,500

Prepare a Reconciliation Statement.

P.T.O.
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T THS faxiid JEishT=l alely SieagaR Iu I[E oY 2,57,510 99 B
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qead oeAd SR STehRelell shiied  Afeeas 3,400
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qReTT AT TRl STa&™ul 25,000

fafErmeda =N IReEd e gafas T9ed 16,000
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EICANSIG) 11,400

M TTETIRIehTd  SThRTa  STFehRT 80,600

SIRED fEeled Hdeiel SifeehIvehed e =S

ERGIEIN 2,450

TRYT=AT SIS FMeie] e (3Tfeh Trengwiehd  STehieicl) 13,500

FAHYM faero 9 .

Or
(fenam)

A Transport Service Company is running 4 Buses between two towns are
50 kilometres apart. Seating capacity of each bus is 40 passengers. The
following particulars are obtained from their books for the month of
April 2015 :

Rs.
Wages of Driver 4,800
Salaries of office staff 2,000
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Diesel and other oil 8,000
Repairs and Maintenance 1,600
Insurance and Taxes 3,200
Depreciation 5,200
Interest and other charges 4,000

Actual passengers carried were 75% of the seating capacity. All the four buses
run all days of the month. Each bus made one round trip per day.

Find out the cost per passenger per kilometre.
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